6.1.2: Investigating Perpendicular Lines Name:
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a. What observations can you make about

b lines A and B?
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N c. Using slope-intercept form, write
/ the equation of: kb“‘mx

line A: gé = —yfzx*?line B: 5§ = g/ﬁ X{Z

d. Compare and contrast the two equations you wrote in part c.
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a. What observations can you make about
lines A and B? -
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¢. Using slope-intercept form, write
i the equation of:

™ line A: %: 'Vgx ‘3 line B: (1= oL ';5
d. Compare and contrast the two equations you wrote in part c.
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a. What observations can you make about

A lines A and B?
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\ c. Using slope-intercept form, write
the equation of:
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d. Compare and contrast the two equations you wrote in part c.
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The lines in graph 1 & graph 2 are defined as _PERPENDICULAR LINES
The lines in graph 3 are NOT PERPENDICULAR

What information can we conclude about PERPENDICULAR LINES
from a:
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5) Are the lines V = %x +8 and y = Sx 6 perpendu:ular?
Explain your answer using words. Sk OPQ’HJ
=3 Mmz-S, ace oppooIT!
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6) Are the lines y=4x+ 3 and y = -4x -10 perpend1cular7
Explain your answer, using words.
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7) Are the lines z%( +3y=12 and ¥ = 2«"’ +10 Lgerpendlcular?

Explain, using words.——————— =5
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8.) Are the lines 4x + 2y = 20 and y= -2X -4 perpendmular?
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Explain, using » words.
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9.) Are the lines -6&( ty=3and y—9= (x + 3) perpendicular?
Explaln using Fwords, TO% AT Y= o\ (X*Xf)
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re the lines -10x + 5y = an — 16y =16, perpendicular?
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